
Hand in exercise AQFT - The statistics of an endomorphism

Let ρ be an endomorphism of A, localized in an interval I ∈ I . Choose an equivalent
endomorphism ρ0 localized in an interval I0 with Ī0∩ Ī = ∅ and let u be a local intertwiner
in (ρ, ρ0), that is, u ∈ (ρ, ρ0)Ĩ with I0 ∪ I ⊂ Ĩ and I0 to the left (clockwise on the circle) of
I in Ĩ.

Definition 1. The statistics operator is defined as ε := u∗ρ(u)

Prove the following:

Proposition 1. • ε ∈ (ρ2, ρ2)

• Defining εi = ρi−1(ε), this gives rise to a representation of the Artin braid group:

εiεi+1εi = εi+1εiεi+1, εiεj = εjεi if |i− j| = 2

Definition 2. The (unitary equivalence class of the) representation of the braid group that
we obtain in this way is called the statistics of the superselection sector ρ
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